設∠CBP＝(﹐則∠ABP＝90°－(。
設正方形邊長為 x﹐

則  EQ \o(¯¯,AB)＝ EQ \o(¯¯,BC)＝x﹐

在△ABP 中﹐由餘弦定理 

cos（90°－(）＝sin (
＝ EQ \f(x2＋22－12,2‧x‧2)＝ EQ \f(x2＋3,4x) 
eq \o(○,1)
在△CBP 中﹐由餘弦定理 

cos (＝ EQ \f(x2＋22－32,2‧x‧2)＝ EQ \f(x2－5,4x) 
eq \o(○,2)
由平方關係知
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 EQ \f(x2＋3,4x)

 EMBED Equation.3  [image: image2.wmf]÷
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 EQ \f(x2－5,4x)

 EMBED Equation.3  [image: image4.wmf]÷
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2＝1

( x4－10x2＋17＝0 ( x2＝5±2 EQ \r(2)（負不合﹐見附註）﹐

故面積為 5＋2 EQ \r(2)。
附註：若 x2＝5－2 EQ \r(2) 代入eq \o(○,2)式﹐則 cos (＝EQ \r(2) EQ \f(（5－2）－5,4x)
＜0﹐

即 (＞90°﹐不合。
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